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1 . (a) Explain the temrs 'Risk and Retum" in the context of Investuent . (7)
(b) 'What 

are Investment decision process? Differentiate lnvesment and Speculation. (8)
Or

,^Given following infonnation:
Portfolios A B C Expected Retum 30% 22% 20% Risk (Standard Deviation)28% 2l% l4%. It is fi[ther
given tiat retum on market index and risk-free asset is 19% and 10oZ respectively. The standard deviation of
market index is 14%. Which of the por.trolio are efficient and inefficient on the basis of CML.
(ls)

2. (a) \ilhat is risk-adjusted retum? How is it better than absolute retum? (8)
(b) What is Deep Discount Bond? How is the value of such bond calculated? (7)

Or
An investor purchases two monttrs call option of 100 shares PICKO Ltd. at a strike can lodge a complaint
with security ombudsmao? Price of 40 per share on paying a premium of 3 per share. Find his expected gain
or loss per share and also the total gain and loss if the actual price of the share on tie exercise date is 30, 35,
43,45, aad50. (15)

4. (a) lrdian Debt marke[ is very much volatile. Explain wittr example. (7)
(b) Explain the Dividend Discount Model of Equity Share valuation. (8)

Or
XYZ Company's cunent share price is 72 and its Iast dividend paid was 4.80. If dividends are expected to

gow at a ioostant gowth rate g and if required rate of retum is l2o/o, whal isXYZ's expected share price in

3 years ftom now? (15)

5. Write a short note on any five: (5*6: 30)

a) CAPM
b) P/E Ratio
c) Zero Coupon bonds
d) CreditRating
e) Forward Market
f) Markowitz Theory
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3. (a)Mutual fund is an Indirect Inveshent? Commenl. (7)
(b)DifferentiaG between Systematic and Unsystematic risk- (8)

Or
^ \ bond having face value of 1,000 is cunently sold at 1,078. The coupon rate (payable annuatly) is l2%;o.lt

will be maturing after 8 years. What is the leld excepted on this bond by the investor? If this bond is
callable after 5 years at 1,050, what will be the yield? (15)
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